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111,

112.

14

Which of the following is an example of simple harmonic motion?
The motion of simple pendulum A bouncing ball on floor

LR R R R R R R e N R R R R R R

[f mass of the body is increased by the factor of 3, the period of pendulum’s motion will:
(® Be decreased by a factor of 2 Remain same

A R AR R SRR R SRR IR AR AN R S RN RN AR TR AR NSRS R R T A RN AR A R AR RN RSN AN IR RN A AR S R AR AR A I RSN A RN R R SRR AR NS RN RN AR AR RN A A RS AR R RS NSRRI RN AR RN AR
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In SHM, velocity at extreme position is:

Maximum Minimum
©) Zero

NN R R AR NS NN NN NSNS IR IS NI RN AR NN AR AR RIS I RN N AN RN RSN IR RN AN NI R

L T e L T T T P T

() 6 sec 1 sec (®) 10 sec
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When I= 1.0 m then time period of simple pendulum is:
(A) 1.88 sec 2.11 sec (© 1.89 sec ©) 1.99 sec

[f mass of the body is increased by the factor of 2, the period of pendulum:

Remains same Increased by the factor 2
(© Decreased by the factor 2 © Decreased by the factor 4
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119.
120.

121.

I22.
123.
24,
s
126.
27.

128.

120.

130.
131.
132.

133.

The example of shock absorber of the vehicles are:
® Vibratory motion ® Motion © _SHM ¥O) Damped Motion
Which waves do not require medium for their propagation:

(® Sound waves Electromagnetic waves
© Mechanicalwaves © Allofthem
Which of the following characteristics of a wave is independent of others?
______ Amplitude _Wavelength  (© Frequency = © Speed . .
Waves transfer:

(») Wavelength Velocity © Frequency @

........................................................................................................................................................................ ..
Main types of waves are:

Radio waves are:
@ Transverse waves

e R L e e L T T T T

LR R R R e e L R e R e R e R L R R R R R R R Y]

............. waves move faster in solids.

® Electromagnetic waves Em Longitudinal waves
(© Transverse waves © All of them

The distance between two consecutive compressions is called:

® Rarefaction @ Amplitude © _Frequency JROJ Wavelength
Which of the following devices can be used to produce both transverse and longitudinal
waves?

NO) Ahelical Spring ® ArippleTank O AtuningFork © Astring
Which of the following is a method of energy transfer?

® Radiation _Wavemotion = © Conduction O) Allofthese
Wave equation is:

®V/A | © 7S Ofv OQyw.
The relation between velocity, frequency and wavelength for waves is given by:

O V=M VAL © VE=A .

Wavelength of waves can be defined by ratio of:

(® Distance and speed Speed and frequency
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42. A ripple

®

uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu

(») Frequency

L R Ry

1309. Generating high frequency requires more:

(») Electromagnetic

L T

|41. A large ripple tank with vibrator working at a frequency o
waves in a distance of 50 cm. The velocity of the wave 1@ |

[6] 60 cmys 750em/s  @d800em/s  ® 53cmys

1143. When the water waves enter « o

LR R TR

L L T L e T T T e e T T T T T T T T T T T T T T

134. Frequency of wave is 4 Hz and wavelength is 0.4 m then its speed will be:

(») 1.6 m/s O] 1.6m © 16m (® 16 m/s

I35. 1f the speed of a wave is 340 m/s and wavelength is 0.5 m, then frequency will be:

680 Hz

137. In a vacuum, all electromagnetic waves have the same:

(©) Wavelength (® Amplitude

[38. The relation between time, speed and distance is:

L N T T N T N N T N T T T T T T T T T

40. Earth quake produces ............... waves.
@) Seismic (© Transverse (® Longitudinal

T T R N T e Y

z produces 25 complete
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‘egion of shallow water their wave length:

(A) Becomes zero (@1 Decreases (©) Remains same (®) Increases

B AR RS SRR AR EA R

|44. The bending of waves around the corners is called:

" Diffraction (©) Interference (®) Reflection

45. Sound is form of Energy OR Which form of energy sound is:
(® Electrical ©) Mechanical (© Thermal © Chemical

|47. The example of longitudinal waves is:
Water Waves (©) Radio Waves (©) Light waves

|49. The unit of intensity of sound is:

|50. The intensity level of rustling of leaves is:

|51. The intensity level of train siren is:

L TR R R R R R e R R R R R R R R R R R R R R R R R R R R R R R e L R R R R R R R R R R R RN RN

L N N R R R Ry
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60.

|61.

3.

les.

Sound level in dB is:

® 1010g% 10log™ © log2(db) ® log%(db)
The loudness of sound is most closely related to its:
®Period KA Amplitude © Wavelength (@ Frequency
The pitch of sound mostly depends on:
_______ Frequency  ® Amplitude - © Period ®_Wavelength
The frequency of silent whistle lies between: O

(» 10000-20000 Hz

(@) 20000-25,000 Hz © 15000:25000 Hz ® 20-20000 Hz
3

The intensity level of lawn mower is:

(® 70dB 120 dB 100 dB
One bell is equal to:

10 dB © 20dB ©® 90dB

To hear a clear echo, the time interval between our sound and the reflected sound must be

at least:

(©) 1262 Km/h (® 1264 km/h

In general, the speed of sound is greater in:
(» Liquids Gases

-----
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172. The speed of sound in Aluminum at 25°C is:
(») 5950 m/s @) 6420 m/s © 6040 m/s (® 4700 m/s

81. The speed of sound in Flint glass at 250C is:
1 ® 5950m/s 5960 m/s © 6040 m/s 3980 m/s

called:
@) Acoustic protection Reflection of sound
(© Diffraction of sound (® Noise pollution

L e L T T e T e T T T T T T Ty

186. Sometimes when sound reflect from the walls, ceiling, and floor of the room, the reflecting
surfaces are too reflective and the sound becomes grabbed. This is due to multiple
reflections called:

' Reverberations Reflection
©_ Acousticprotection ® Noneofthese
|187. For a normal person, audible frequency range lies between:
O o e e e e e e e e e e o o)
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[101.The formula for focal length is: OR The relation between focal length and radius of
] curvature is:

1102.The principal focus of a concave mirror is:
' Both aand b (© Virtual

11103.A converging mirror with a radius of 20 cm creates a real image 30 cm from the mirror.
I What is the object distance?

1104.An objectis 14 cm in front of a convex mirror, the image is 5.8 cm behind the mirror. What
: is the focal length of the mirror?

= Page 6 of 25 Please visit for more data: www.pakcity.org
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199. Who suggested the wave theory of light? 2% pakcity.org 2
| . ®IbnAlHaytham ® Einstein | ©) Maxwell ©® Newton .
1100.In a convex mirror focus is:
| Behind the mirror Under the mirror

(©) On the mirror (® In-front of the mirror

® 30Hz-30kHz  [ON 20 Hz-20kHz  © 10Hz-10kHz = © 25Hz-25kHz :

188. Audibility range .......... with ages.
® Remainssame O} Decreases (9 Increases . © Noneofthese |
............................................................................................................................... © 35000Hz © 100000Hz f
_________________________________________________________________________________________________________________________________ ©25000Hz  © 35000Hz |
.......................................................... (©120,000Hz  © 100,000Hz I

............................................................ © _120000Hz  © 100,000Hz |

1193. Humans can hear frequency up to:
® 25000Hz  ©120000Hz  © 100000Hz O 20000Hz 5

. Sounds of frequency higher than ........... are called ultrasound.

| _20000Hz 3000087 e ©_25000Hz ©_20Hz :

|95. Ultrasound is used to locate under water depths or is usgﬁ@) “ocating objects lying deep in
: the ocean floor, this technique is called: ‘ OQ
‘ @ Acoustics ®_ Noneofthese
............................................................................................................................ @180 |

sists of small packets of energy called photon

1900 (©) 1902 I
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11105.An object is placed at the center of curvature of a concave mirror. The image produced by

i the mirror is located:

At the center of curvature Out beyond the center of curvature
Between the center of curvature and focal point © At the focal point

R R R R N R R RN NS NSNS RS SN NSNS RN R R RN SRR

®Virtwal Real ~ [O) Enlargement ~ ® Smallness
107.In magnification image could also be ........ Than the object.
(®Real Virtwal [©) smaller ©® Same

1]1108.Convex mirrors produce images that are smaller than objects. This increase:

[O]] View for the observer A and C
© None of these

1116.The speed of light in water is approximately:
(A 2.6x108m/s 25x108m/s  (© 3.3x108m/s

1117.The speed of light in glass is:
; (») 3x108m/s 2 x108m/s © 3x108m/s

1118.Snell's law is:
! Sin <r

L N e e L L R T e L N o e L L T L e L R L LN e

1119.1f a ray of light in glass is incident on an air surface at an angle greater than the critical
angle, the ray will:

(») Diffract only Partially reflect (© Refract Only

T T T T T T

1120.The critical angle for a beam of light passing from water into air is 48.8 degrees. This
means that all light rays with an angle of incidence greater than this angle will be:

(») Totally transmitted Totally Reflected

(© Absorbed © Partially reflected and partially transmitted

LR R R R R R R R R R R R R R R R R R N R R R R R R R R RN R R RN R RO
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IIIII

ko) 488 A9.500 © 500 O
122.Conditions for total internal reflection are:
®5 & © 3 el
123.0ptical fiber works on the principle of:
Total internal reflection Reflection
(© Refraction (® Diffraction

1124.An instrument used to view the stomach of human body is called:

©) Gastroscopy (© Bronchoscope  (® Endoscope

(») Cystoscopy

|125.Endoscope is a:
() Principle Formula (© Technique

L R Ry L R R L N P TR R T Ry

T e P T P P T R T R P T R T R Y

127.The power of lens is reciprocal of:

(») Principal axis principal focus

11133.Which type of image is formed by convex lens on a screen?

(® Inverted and virtual m Inverted and real
© _Uprightandyvirtual © Uprightandreal .
|134.Which type of image is formed by concave lens on a screen?
(® Inverted and virtual Upright and virtual
© Uprightandreal . .. . . © Invertedandreal . .. . .

NN A N RN NN NN SRS NSNS NSNS NSNS AR
R N R ]

[138. The branch of optics that focuses on the creation of images is called:

L e )
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147.The human eye has:

1139.Image formed by camera is:

(® Virtual, upright and magnified
(© Virtual, upright and diminished

|141.1n slide projector Projection lens is a:

(A) Convex mirror Concave mirror

T P T

1142.In compound microscope objective lens has focal length:

Less than 1 cm Greater than 1 m

L e

[143.The mathematical equation for magnification of compound microscope is:

L R R R R R e N R R L

|146.Which type of image is produced by the converging lens oan eye if it views a distant

object?
(A Real, Erect, same size

L e R R R ]

(A) Concave lens Concave mirror

A A RS A AN S AN RSN NN AN NN NN N AN NN RN SN N AN SN SN IR AN AN NI e e gy R s s s R

152.Hypermetropia can be corrected using ........ lenses.

(») Simple Concave

R R R R R R R R Ry R R R R R RN R RN RN R PN R R E RN o

R L R R R R e P R R

-------------------------------------------------------------------------------------------------------------------------------------------

AN AN S RSN RN AN NN AR NI NI NS SN EE R R R R R R AR RSN A SN NN N AN SN NSNS IS A SN NS AN N AR AR

Real, inverted and diminished
(® Real, inverted and magnified

(©) Concave lens

(ST SN S U S S ) S [ S S () S [ S S S S S S SO (IS | o o

(© Zero (® Equalto1lcm

I

........... focal length than eyepiece.
(© Lesser (® None of these

- ©
(lﬁﬁverted, Diminished
irtual, Erect, Diminished

[N S N N O O N O O U ) O W S S O O (M O WO ) [ U [ ) S S ) S [ [

(©) Convex mirror Convex lens

I

ST ST S S [l S S ot ] [l

I

(VS S 0[RS S S (S (Sl () S (1S (S [ o 1 S o S [ S S Ty )

1154.An object gains excess negative charge after being rubbed against another object which is: |1
(®) Neutral Positively charged
................................................................................................................................ © Allofthese |

|155.A positive charge OR A positive electric charge:
Repels other positive charge Attracts other positive charge

© Repels other neutralbodies ©_Attracts other neutral bodies :
"[||l||l||lllllll||.L__1- ||||||||| e e e e B B B .l -'
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C.).-. |||||| s e 1 e ] _.
I 156.The electroscope is an instrument which is used for:

Detecting charge Detecting current

© Detectingradiations © Noneofthese

1158.The strength of an electric field at any point in space is called: pakcity.org g:-‘.-

(® Electric potential Electric field intensity
(© Electrostatic induction (®) Electric field lines

[159.To protect the gold leaves from external disturbances in an electroscope a foil is grounded
I which is make of:

(») Silver

161.According to coulomb’s law what happens to force of attraction of two oppositely charged
objects as their distance of separation increases?

- Decreases Increases
Remains unchanged (® Cannot be determined

1166.Electric field lines always:

[O] Never cross each other Cross each other in the region of weak field
(© Cross each other © Cross each other in the region of strong field

L e L T R R R R R R ]

|1167.The equation to calculate electric potential “V" is OR The electric potential “V" at a point be
given by:
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_ F 1 C
® Fq, — © — ® =
.................................................................................. R 1L [ .

1173.1f 4 ] of work is done on a 2C charge against the direction of electric field, the value of
electric potential is:

2V 8V © 4V ® 1V

B m R B m R NN R RN NS R RS R N RN NN N SRR W B NN R R B N R N R R R R NN R R R W R e R N R W R RS NS R S S RSN ENEESE S NN N NS IR N AN SR NSNS R NSNS NE NSNS R SRS NS RSN RS R R

174.Three capacitors of capacitances 3 pF, 4pF and 5pF are connected in parallel combination,
with battery of 6V. Calculate equivalent capacitance:

O 1TpF IAPE e, © 6PF o
175.The SI unit of electric potential is
(A Ohm Ampere © Joule

176.0ne volt is equal to
....... LJCT ACT Q1IC ONE ) N
1177.Five joules of work is needed to shift 10 C of charge from one place to another. The
potential difference between the places is:
ROR L A A © 2V
178.......... Blocks DC current but allows AC current to pass thro Bthe circuit.,
(») Thermometer ' (®) Specific resistance

Ry e e e R N LR L T v------------u--d-»-u'-----—- ---------------------------------------------------------------------------

1180.Each bolt of i

™ 4000 mill]
© 3000 mil

-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

11181.SI unit of capacitance is:

(®) Coulomb Newton

T T T

[182.Capacitors are used to differentiate between high frequency and low frequency signals.
|  Such circuit is called:

O)| Filter circuit Parallel circuit  (©) Series circuit (® None of these

T

183.The ability of capacitor to store charge is called:

(») Electric energy Electric potential (¢©) Resistance @) Capacitance

1185.1f 4C charge is given to the plates of capacitor and potential between the plates is 2 V then
I its capacitance is:
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®

®1x1075F [ 1x10°F  © 1x10%F ® 1x107*F :
190.If the medium between the two charges is air, then the value of “k” will be:
® 9x10°m™2C2 ® 9x10°Nm2C2 © 9x10°m?C2 [O) 9x10°Nm?C2 |

(») Paper Mica @ Aluminum (©) Plastic

W 1=VR

193.The unit of current is:

| S W S (W Y U S O S S {1 NS [ [ S O S S (W) S (S S ) |l [ (o

1199.Electrical potential and e.

Are the same terms Positive ions
© Are the different terms (®) Have different units
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206.An electric current in conductor is due to the flow of:

@) Free electrons Positive charges (¢) Positive ions (® Negative ions

207.What happens to the intensity or the brightness of lamps connected in series as more and
more lamps are added:

) Decrease

(») Cannot be change (8) Remain same (© Increase

(c) Different (®) None of these

N e N RSN R

|1212.Five joules of work is needed to shift 10C of charge from one place to another. The
potential difference between the places is:

[213.1f e.m.f of a battery is 2V, then the energy supplied by b
I charge flows through the close circuit.

1219.When we double the voltage in a simple electric circuit, we double the:
(») Power Both A and C (©) Current (o) Resistance

1222.1f we increase current on wire perpendicular in magnetic field, then the magnetic force on
wire will be:

Increase (®) Will be Zero (© Decrease (© Will not change
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220.0ne micro ampere is equal to

O N ON 1094 | © U . ®10%A
221.The study of magnetic effect current is called:

‘® Electric Capacity O] Electromagnetism © Magnetism ® Electricity

L R R T T L T T
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1223.The presence of magnetic field can be detected by: or The presence of a magnetic field can

be detected by a:
Magnetic compass Stationary positive charge
(® Small mass

|224.What statement is true about the magnetic poles?
A single magnetic pole does not exist Magnetic pole do not effect each other
® Unlike pole repel

L L L R L L o

1225.What is the direction of the magnetic field lines inside a bar magnet?
From north pole to south pole There are no magnetic field lines
© From side to side

1228.Which device is based on the principle of electromagnetism:

(») Mobile phone C-D ©) T-V Electric motor

..............................................................

L L L R I N I O T e O T T I O I T O I e I O O N O T O e T T T O T L LR T I N Y

1229.A D.C motor converts: Q®

(A) Electrical Energy into Chemical Energy. O

Electrical Energy into Mechanical Energy. @;\o
(©) Mechanical Energy into Chemical Energy:. 8& -'

© MechamcalEnergymtoElectrlcaEne{@{@ ....................................................................................................................................

1230.Michael Faraday belonged to: @@
: (A) Russia K.S.A (VS

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

1231.Which thing works on the
I house:

() Voltaic Cell Galvanic Cell (¢) Motor ®)| Generator

.................................................................................................................................. © Jorge coulomb ~ (©® Simonohm

T R TR

236.Transformer is used to:
® Decrease voltage (® Increase voltage [OF BothAandB ~~ (© Noneofthese
237.A device which is used to increase the alternating voltage is called:
@ Step-up transformer Motor
(© Generator © Step-down transformer

LR e R R R

(N (VY[ (S T O T ) ) U (D S ) O O ) ol R ()= == 1 (O (A | S (T 0 Y 0 S = [ =2 () () S (N (L) S ) TN () S [ (XSO S [N () [ ) S L S S S (N =) [N =S A [ | S S [N [T () S T O S [ (O A [ Y (S I o |
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28D s in a transformer the voltage across secondary coil is denoted by
RON LI NS o © N :
|1240.Turns ratios in a transformer is 1 : 100, it means that:
A L. Ns=Ne/10 © Is=101p .. © Ve/10 o :
241.The transformer works on: or The principle of working of transformer is:
Principle of Mutual Induction Principle of Self Induction i
© _Principle of D.CMotor © _Principle of A.Cgenerator :
1242.The step up transformer:
_ Increases the input voltage Has more turns in the primary coil
(© Has less turns in the secondary soil (® Increases the input current

|245.When number of turns in primary coil is greater than secondary coil, this transformer is
| called:

O
(» Up and down Step up Step @ (©® All of these

N N R e N R R R e e AR R R RN R R R RS R R N L R R e R R R R R

|1246.The application of mutual induction is: @0
] Transformer A C Generator (® D.C Motor

[247.The particles emitted from a got cath 0 s face are:
(®) Protons @] Electr @ko (©) Negative lons (®) Positive Ions

N N R R R R e N L ) R R R L N R R L R N R R

L e T

11249.In tungsten filament the potential given to produce the Beam of Electron by thermionic
Emission is:

250.Cathode rays have a charge:
(A + ve and — ve Neutral () Positive

251.The biggest achievement of electronics is:
(») Mobile phone Transistor (© Calculator

O A
11253.In CRO the potential of grid is:
& () Neutral Zero
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264.Number of input terminals in NOT gate is:

_ (») Non-Inversion Inversion (©)
: o e O e Il n S TR e AR R e e S PSR R B e
|265.Which logical operation is performed by this @

O] A=1,B=1 ® A & © A=0,B=0 © A=0B=

1267.AND gate can be formed@
_ (A) NAND gates OR gates (© NOT gates NOR gates

sing two gates:

1271.In computer terminology information means:
@) Processed data Large data (©) Raw data (® Any data

L R RN

272.From which of the following you can get information almost about everything?

Computer (©) Teacher (®) Books

|1274.In computer terminology the term machinery refers to:
(A) Procedure Data () Software

() 7 R U ) ) ) 1 ] 0 ) ) D) )= = 71 (R [ (O 1 WO {05 0 = O =< S (B O ) 0 G DO (0 ) G [0 O O W 0 I 0 S G O ] O =<3 (R == OO {0 O A R {0 O O [ 1 A i o
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279.Which is the most suitable means of reliable continuous communication between an
|  orbiting Satellite and earth?

(©) Sound waves (®) Radio waves

ame L L R R R L L T R L L L L L LN R N R L R R R R L N R R R RN RN LT

[280.Radio technology is used in:
Mobile phone Micro phone (© Fax machine (© Telephone

L

281.Fax machine is also called:

@ Telephone [©] Tele facsimile machine © Computer ® Radio
282.0ne Kilo byte (1 KB) data is equal to: or 1 KB=? <

® 10MB 1024MB © 1241@@» ............... O} 1024e

11283.0ne megabyte is equal to: or One megabyte hasgé@hq%ny kilo bytes: or A megabyte has

how many Kkilo bytes: o
1034 KB 1054 KB (® 1044 KB

|284.The basic operations performed

Arithmetic and logic oper Non-arithmetic operation
© Logic operation © Arithmetic operation

LR e L R e T R e R N R R R T R R R o

1285.1 GB data is equal to:
|  ® 1024 Bytes 1000 KB © 1024 KB 1024 MB

(®) 4 Bits ®) 8 Bits (©) 6 Bits (® 10 Bits

N NS RN NN NN NSNS NSNS L L R R L L T L L L R L LR L L L R L R R R LR R L L L L R R LR LR LR

1287.The brain of any computer system is:

(A) Memory Control Unit (© Monitor

1290.A CD can store over ......... of computer data.

\2).680 gigabyte  ® 680 megabyte ~© 17gigabyte ~© 17 megabyte
1291.1f CD is made of soft elastic material then it is called:

® Computerdisc ® Harddisc © Metallicdisc  JO) Floppy . .
1292.The disc made of Aluminum is:
| ©lLaserdisc O) Harddisc © Floppydisc  © Compactdisc
e e e e o e r
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1|1293.A ordinary floppy disk can store data upon:

1294.A device used to transport files from one computer to another:

©Printer  KGL. Flashdriver ~ (©) Laser . © Compactdisc
|295.E-mail is: or For what does term e-mail stands for: or What does the term e-mail stand for:
| ® Blectriciy Urgentmail  © Emergencymail [O) Electronicmail
296.Which of there is not a web browser?
® Mozilla Fire fox  JO) YouTube © Safari o © Chrome .
297.Whit broadband information can be loaded:
®lnlday Ol.Intsec ..© lhour .. ©In:
298.The number of Neutrons in Tritium %H iS:
RN S O 3
11299.0ne of the Isotopes of uranium 23§U.Find the number of Neutrons in this isotope is:
{I© B 238 ©330 ... ®92 o
1300.Particles in the nucleus of an atom are:
Protons and Neutrons Protons@@
| © Electronsandneutrons ® .___EIQF%@M.EI_@EFEQQ% ..............................................................
301.Isotopes of hydrogen are: %ﬁ\

R R B NSNS NSNS NSRRI SRR E R

® 5 4

I L N N T T

1303.Isotopes are atoms of sa
®

1304.The proton is heavier than an Electron:
() 1800 times 1870 times

306.In 233U,92 is the number of:
| ®N+e P+N

e e L R L]

L e N R ]

e L R T R R R R

Clz+eN o ®@7=A © AN @Z+A
310.The half-life of Hydrogen is:
®285years fOl 12.3years © 30years . ©) S5730years .
[311.5afe limit of radiation exposure in one year is:

B
| by™
) R ) ) ) ) o ) ) R ) (=== 7 (0 ] A O ) T = 100 =< ) O ) ) G O ) G ) ) N ] A S R B ] =< () =) ) Vi ) ) R () O O (o B A )
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_________________ 5rem  ®3rem  © 4rem  ©6rem |
[312.The half-life of lead is: E
(®) 10.4 hours ©®) 10.6 hours (© 10.0 hours (® 10.2 hours i

T e T T T T N T I T T e T T T T R e T e e e P T T T T N R P TN T R T T T

L T T

|1315.The half-life of radium-226 is:
_ (») 2800 years 5730 years

(© 4000 years

I 318.In 235U 92 is the number of:

Number of protons (®) Protons and Neutrons
@ Neutrons and Electron (® Number utrons

R e e e e e e e e NS SN SRR EEEEEEEEEE R EES SN NSNS SRS RSN

! %
1319.When uranium (92 protons ) ejects a beta partlcle \QQany protons are left in the
I remaining nucleus:

|1320.Release of Energy by the Sun due to:
. By Nuclear Fusion
©_ByNuclear Fission

By chemical reaction
© By burning of gases

StressAmin @ Newton © Eonstein .. ©_Snell o
Class :10% Physi CS (The most exclusive guess paper)

|0.1:  What is meant amplitude?

1Q.2:  What is the difference between vibration and frequency?

Q.3:  Write two characteristics of simple harmonic motion.

|0.4:  Define mechanical waves. And write the names of its types.

10.5:  What is meant by simple pendulum? Write the formula of its time period.
10.6:  Define spring constant. Write its formula.

Q.7:  Define vibratory motion.

10.8:  Define restoring force.

10.9:  Iftime period of simple pendulum is 1.99s then find its frequency.
|Q.10:  Define simple harmonic motion.

|0.11:  Define time period.

10.12: What is meant by wave length? i
10.13:  What is the difference between transverse and longitudinal waves?
i w o
(O A i R A i B B B (R R O D === 2 0 ] O 0 I 05 = 100 =< ] [ R I | A S ) I O A B W B S B ] O =) ) = 1 [ S B ] B (R D S B B S B [ o 1 @)
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Q.14: What are longitudinal waves? Also give one example.

Q.15: Define wave equation. And write its formula.

Q.16: The frequency of a wave moving on a slinky is 4 Hz and wave length is 0.4m. Find its
speed.

Q.17: Whatis stethoscope?

Q.18: What is meant by loudness of sound?

Q.19: The sound of women is shriller than men. Why?

Q.20: What is the difference between frequency and pitch?

Q.21: Define pitch and quality of sound.

Q.22: What is meant by sound less whistle? What is the range of its frequency?

Q.23: What is meant by intensity of sound? What is its unit?

Q.24: What is the difference between loudness and intensity of sound?

Q.25: Write the mathematical relation between loudness and intensity of sound?

Q.26: Whatis meant by decibel scale?

Q.27: What are the audible frequency ranges?

Q.28: Write down the audible frequency ranges for children and old people.

Q.29: Explain the concave mirror and convex mirror by diagram.

Q.30: Define center of curvature and radius of curvature.

Q.31: Define mirror formula.

Q.32: State the laws of refraction.

Q.33: Write Snell’s law. And write its formula. 7

Q.34: What are the values of refractive index for water @”\dﬁg?

Q.35: Define refractive index. ?si\)\}g

Q.36: Whatis critical angle? q @

Q.37: Whatis convex or converging lens? ﬁ{@ﬁgfov diagram.
(.38: Define principle focus and focal ‘%@@
Q.39: What is meant by power of adens? Also write its formula.

110.40: The power of a convex lfgfs\\i D. Find its focal length.

1|0.41: Differentiate between%%)l and virtual image.

|Q.42:  What is meant by electrostatic induction?

10.43:  State Coulomb’s law.

10.44: What is the effect of distance on Coulomb’s force? Describe.

10.45:  In System International, what is the value of k in Coulomb’s law?
10.46:  Define electric field. Write its unit.

1Q.47: Define electric field intensity.

10.48:  Is electric field intensity a vector quantity? What will be its direction?
Q.49: Define electric field lines. Who introduced them?

Q.50: Write down two characteristics of electric field lines.

Q.51: Define electric potential. Write its unit.

Q.52: Define volt.

Q.53: Write the formula of electric potential enerqy.

Q.54: Who and when the first battery was discovered?

Q.55: Whatis the difference between a capacitor and a dielectric?

1Q.56: Define capacitance. Write its unit.

Q.57: Write down two characteristics of the series combination of capacitors.
0.58: What is meant by dielectric?

0.59: Write down two uses of capacitors.

Q.60: Whatis filter circuit?

Q.61: Write the names of different types of capacitors.

f\\
Q \
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0.62: Define variable capacitors.
10.63:  Define fixed capacitors.
10.64: What is meant by electrolytic capacitor?
11Q.65:  What is meant by Mica capacitor?
1Q.66:  What is the SI unit of electric current? Define it.
110.67:  Define electric current. Write its mathematical formula.
10.68:  What is meant by conventional current?
10.69:  What is the difference between flow of current and water?
10.70: Which instruments are used to measure current?
10Q.71:  What is the difference between galvanometer and ammeter?
10.72:  Whatis electrolyte?
10.73:  The diameter of a copper wire is 2Zmm. find its cross sectional area.
|0.74:  What is the SI unit of potential difference? Define it.
10.75:  What is the difference between electromotive force and potential difference?
|Q.76:  State Ohm'’s law. Write its mathematical formula.
1Q.77:  What is meant by resistance? Write its unit.
0.78: Define the SI unit of resistance.
10.79:  The resistance of conductor increases on increasing the temperature. Why?
10.80:  What is meant by Ohmic and Non Ohmic conductors?
10.81:  State Joule’s law. Write its mathematical formula. AN
1Q0.82:  What is the difference between kilowatt hour and elecﬂ:}%ﬁzg?
1Q.83:  Write down the difference between watt and kilo gﬂ\@\hour
10.84:  Define electric power. Write down its eauatzo
10.85:  Describe right hand rule. %5@
110.86:  What is meant by solenoid? 2
1Q.87:  Who discovered the magne tzg\ J{@ produced around a straight current carrying
I conductor? ﬁ)g
10.88:  Write two methods of m@éﬁkfma magnetic force.
10.89:  What is meant by elec?t%qaanetzc induction?
110.90:  State the law of electromagnetic induction of Faraday.
10.91: State Lenz’s law of induced emf.
110.92:  What is the difference between step up and step down transformer?
110.93:  Differentiate between digital and analogue quantities.
110.94:  What is meant by analogue quantities? Give example.
110.95:  Differentiate between analogue and digital electronics.
1Q.96:  Write the uses of digital electronics.
Q.97: Whatis digital to analogue converter?
10.98:  Write the advan tages of uses of digital electronics over analogue electronics.
10.99:  What is meant by DAC and ADC?
110.100: What is meant by digital electronics? Give an example.
10.101: What is meant by binary variable?
: Q.102: What is meant by logic algebra or Boolean algebra?
10.103: What is meant by logic state?
1Q.104: Which are three universal logic gates?
10.105: Write the names of logic operations.
i Q.106: Define truth table.
10.107: What is meant by AND operation? Write its symbol.
10.108: Write truth table of AND operation.
: Q.109: Write the symbol of AND gate.
(O i T T o 7 o o e = o e e R = o o o o
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o.110:
lo.111:
1o.112:
10.113:
lo.114:
10.115:
lo.116:
10.117:
lo.118:
lo.119:
10.120:
Ho.121:
10.122:
10.123:
o.124:
10.125:
1o.126:
Ho.127:
10.128:
10.129:
o.130:
N0.131:
0.132:
10.133:
10.134:
lo.135:
10.136:
10.137:
10.138:
10.139:
lo.140:
10.141:
10.142:
10.143:
10.144:
o.145:
110.146:
0.147:
10.148:
10.149:
10.150:
10.151:
10.152:
10.153:
10.154:
0.155:
10.156:
0.157:
1Q.158:

Draw circuit diagram for AND gate.

What is meant by OR operation? Write its symbol.
Draw circuit diagram for OR gate.

What is meant by NOT operation? Write its symbol.

Write truth table of NOT operation. B
o% pakcity.org %o

Write the symbol of NOT gate.
Write truth table of NOR operation.
Write the symbol of NOR gate.
Write the use of logic gates.

Define data.

Write the names of four input devices in computer.
What are Super computers?

How light signal is sent through optical fibers?

What is meant by internet?

Write down the services of internet.

What is electronic mail?

Write down two uses of E mail.

What are browsers?

Define operating system? Also give an example.

What is E commerce?

What are the two important services used in internet? Qb j
Define information. \

Define information technology. &

Define telecommunication.

Write two uses of computer in our cﬁi’fal\@@%‘s‘éS

What is meant by CPU? Why is it @Ead the brain of computer?
What is meant by ATM? X\VS

Write the names offou@ﬁbrowsers

What is global web? QM

What is meant by isotopes?

A nuclide is represented by symbol 13X6. Find the number of protons and neutrons in it.

What is meant by neutron number?

Differentiate between atomic number and neutron number.
What is meant by isotope? How many isotopes hydrogen has?
What is meant by natural radioactivity?

What is meant by radioactive elements? Give examples.
Write a short note on cosmic radiations.

What is meant by cosmic radiations?

Write down the causes of background radiations.

What is meant by nuclear transmutation?

What is meant by penetrating ability?

Write down two characteristics of beta radiations.

What is meant by carbon dating?

What is meant by tracers?

Differentiate between stable and unstable nuclei.

Define nuclear fission.

Write down the equation of nuclear fission.

What is meant by Fission chain reaction?

Write two characteristics of gamma rays.
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Q.159: Write down two characteristics of alpha radiations.

Q.160: Write general equation of beta Decay. Also give an example.
Q.161: What is meant by half-life of a radioactive element?

Q.162: What is meant by half life?

Q.163: Write two uses of radio isotopes.

Q.164: What is meant by radioactive tracers?

Q.165: What is the use of radioactive isotopes in medical treatment?

Class :10th Physi CS (The most exclusive guess paper) o@ pakcity.org%
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Theory plus problems
Q.1: Define simple harmonic motion. Prove that motion of mass attached to a spring on a
horizontal surface is simple harmonic motion.
Q.2: Define mass of spring by Hook's law. Define spring constant by Hook’s law.
Q.3: The time period of a simple pendulum is 2s. What will be its length on the earth? What will
be its length on the moon if gm=ge/6? Where ge=10ms>.
Q.4: A pendulum of length 0.99m is taken to the moon by @tronaut The period of the
pendulum is 4.9s. What is the value of g on the Sunfq‘cq@\thg’h’zoon?
Q.5: A simple pendulum completes one vibration Oi%ﬁ%poseconds. Calculate its length when
g = 10ms-1L. | 8%
Q.6: Draw a transverse wave having ampli@}t%%cm and a wavelength of 4cm. Label a crest
and trough on the wave. N
Q.7: Derive a relationship betweg‘%}%@ ty, frequency and wavelength of a wave. Write a
formula relating velocity %f\& ve to its time period and wavelength.
10.8:  Define mechanical wa@pescribe its types. Also give an example of each.
11Q.9:  If 100 waves pass through a point of a medium in 20 seconds, what is the frequency and

the time period of the wave? If its wavelength is 6¢cm, calculate the wave speed.

Q.10: What is the wavelength of the radio waves transmitted by an FM station at 90MHz?
Where 1M =106, and speed of radio wave is 3 X 10ms-L.

10.11: What is the difference between loudness of sound and intensity of sound? Write the

mathematical relation between them.

10.12: A normal conversation involves sound intensities of about 3.0 X 10 — 6Wm-=2. What is the

i decibel level for this intensity? What is the intensity of the sound for 100dB?

Q.13: At Anarkali bazar Lahore, intensity level of sound is 80dB, what will be the intensity of
sound there?

Q.14: At a particular temperature, the speed of sound in air is 330ms-1, If the wavelength of a
note is 5cm, calculate the frequency of the sound wave. Is this frequency in the audible
range of the human ear?

Q.15: Doctor counts 72heartbeats in 1min. calculate the frequency and period of the heartbeats.

Q.16: A student clapped his hands neat a cliff and heard the echo after 5s. What is the distance
of the cliff from the students if the speed of the sound is taken as 346ms-L

Q.17: A sound wave has a frequency of 2k Hz and wavelength 35cm. How long will it take to
travel 1.5km?

Q.18: Find the frequency of sound, when speed of sound is 340ms-1 and wavelength is 0.5m.

IS SN[ S ST S T S S O (I, W S S S ) (AT S | S S S [ S T [ J S S [ S T S o S [ ) S [ o S J S [ o S S W L S | S [ (W N W S [ | ] N (L) S W S (W O . S S O S S () S S S ) | [ () S S S S S () S (SO [ ) | S () S [ [ S S S S S S 1 S (L o

) ) O | I e e e e e e el e e ) e (] ] [l et oy Py |
) [N S ([ (AL ()

1 | D) |

| ll
i, m _ m A
(@ W T T 1 T [ [ | R ) (] ) S0 R ) () ) ) (0= == 51 [P (B L U A ) ()05 0 WO 0= ) ) RO ) I G D [ ) T T T [ T 1 = =3 ) Y C T T T T T T T T T T T T T T 1T W@

Page 23 of 25 Please visit for more data: www.pakcity.org




(o)

R e N e e e e N N e e e e I N EE T e e e [ e e e ey ) oy [ o oy [ o [y [y [y (e oy ey [ oy [y [y [y e oy ey oy [ i ey o D] ot o e

A www.pakcity.org | - Class 10t : Physics Guess Paper B s

T T ) P e e i o oy ) PP ) P iy ) o G ) s iy (s o o) e B ) o e ) (4 ety ) e o ) i ) f) e |

T e e e s s e ) [y () (e ) ] il

=
~
\O

O
N
S

0.21:
0.22:
Q.23:
0.24:
0.25:
0.26:
Q.27

0.28:
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0.30:

Q.31:
Q.32:
Q.33:
Q.34:

lo.35:
l0.36:
10.37:

10.38:
10.39:

lo.40:

: An object 10.0cm in front of a convex mirror forms an image 5.0cm behind mirror. What is

the focal length of the mirror?

- An image of statue appears to be 11.5cm behind convex mirror with focal length 13.5cm.

Find the distance from the statue to the mirror.
What is critical angle? Derive a relationship between the critical angel and the refractive
index of a substance.

What is meant by total internal reflection? Explain with the help of diagram. Write the
conditions for total internal reflection.

The power of a convex lens is 5D. At what distance the object should be placed from the
lens so that its real and 2 times larger image is formed.

A convex lens of focal length 6¢cm is to be used to form a virtual image three times the size
of the object. Where must the lens be places?

State Coulomb’s law. Write its mathematical form. Also clear the meaning of k. and write
its value in air.

The charge of how many negatively charged particles would be equal to 100uC. Assume
charge on one negative particle is 1.6 X 10-197

The force of repulsion between two identical positive charges is 0.8N, when the charges
are 0.1m apart; find the value of each charge.

Write down explain the relation between electric field lines and electric intensity.

A point charge of +2C is transferred from a point at pote{?gg( 100V to a point at potential
50V. What would be the energy supplied by the charge%% Q 2

The electric potential at a point in an electric %@“‘ 104V. If a charge of +100uC is
brought from infinity to this point. What Woul

Find the equivalence capacitance of cap %&Qcannecwd In series.

Explain the working of parallel plate tor

amount of work done on it?

What are electrolytic cavacztorw do you know about them? “% pakcity.org %"
A current of 3mA is flowin ough a wire for 1minute, what is the charge flowing
through the wire?

How can we dlfferentzdfe%eMeen e.m.f and potential difference?

Explain Ohm's law. What are its limitations?

The resistance of a conductor wire is 10MQ. If a potential difference of 100volts is applied
across its ends, then find the value of current passing through it in mA.

State Joule’s law and also derive its mathematical form.

By applying a potential difference of 10V across a conductor, a current of 1.5A passes
through it. How much energy would be obtained from the current in 2Zminutes?

What is kilo watt hour? Define it. And find the relation between kilo watt hour and joule.
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10.41: What is meant by electromagnetic induction? State an experiment of Faraday.

10.42: Describe a simple experiment to demonstrate that a changing magnetic field can induce

: e.m.f. in circuit.

10.43: What is transformer? On which principle it works? How it works? Write down its types.

10.44: A transformer is needed to convert a mains 240V supply into a 12V supply. If there are

] 2000 turns on the primary coil, then find the number of turns on the secondary coil.

10.45: A step-up transformer has a turn ratio of 1:100. An alternating supply of 20V is connected

! across the primary coil. What is the secondary voltage?

10.46: What are the three universal logic gates? Give their symbols and truth tables.

Q.47: What is meant by AND operation? Describe its different states. Write Boolean expression

i and truth table of AND operation.

|0.48: How safety alarm in houses works? Explain it.

: 0.49: Which are the three universal logic gates? Write their symbols and truth tables.
iy
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Q.50: What is computer? Write its role our daily life.

10.51: Explain the Transmission of Light Signal Through Optical Fibers.

10.52: What is internet? Internet is useful source of knowledge and information. Discuss.

10.53: What is meant by electronic mail? Write its uses and advantages.

i ; ' T 5 " : .
1Q.54: What is meant by background rac{zatlons. | | u@;pakcnty.org %‘3
10.55: What do you understand by half-life of a radioactive element?

110.56: What is meant by half life? Explain it with the help of Radium 226. And show the activity of
Radium of graph.

10.57: Ashes from a campfire deep in a cave show carbon-14 activity of only one-eighth the
activity of fresh wood. How long ago was that campfire made?

110.58: What is meant by radio isotopes? Write its uses in medicine and industry.

10.59: The half-life of is *SN 7.3s. A sample of this nuclide of nitrogen is observed for 29.2s;
I calculate the fraction of the original radioactive isotope remaining after this time.

10.60: Cobalt-60 is a radioactive element with half-life of 5.25years. What fraction of the original
sample will be left after 26years?
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